
Wohnung 1

A = 17.79m2
U = 18.58m

Wohnung 5

A = 4.03m2
U = 8.30m

Wohnung 6

A = 4.03m2
U = 8.30m

Wohnung 2

A = 4.05m2
U = 8.32m

Wohnung 2

A = 17.13m2
U = 18.38m

Wohnung 3

A = 17.79m2
U = 18.58m

Wohnung 4

A = 4.05m2
U = 8.32m

Wohnung 8

F = 15.47m²
U = 16.18m

Wohnung 4

A = 17.79m2
U = 18.58m

Wohnung 3

A = 4.26m2
U = 8.48m

Wohnung 7

F = 15.42m²
U = 16.16m

Wohnung 8

A = 7.33m2
U = 10.94m

Wohnung 6

A = 17.79m2
U = 18.58m

Wohnung 1

A = 4.26m2
U = 8.48m

Wohnung 7

A = 7.33m2
U = 10.94m

Wohnung 5

A = 17.13m2
U = 18.38m
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UK AU = -2,95 m
OK AU = -0,63 m

UK AU = -2,95 m
OK AU = -0,94 m
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